
1.0

1, 2, 3, 4, .....

(i)

5 10,000 100 (ii)

(iii)

(iv)

"0"

0, 1, 2, 3, 4.......... (Whole Number)

(Negative numbers)

Integers

(i)
(ii)

-3 1  (iii)
-3   -6 (iv)

1 Integers   

Integers 1
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-5 4, 6, -2, 0 (v)
 -1 0 1 0 (vi)

.1

.2

-8,  5 (iii) 3,  -2 (ii) -5,  -10  (i)

.3

-10, -15, -7 (iii) -4, -3, -5, 2 (ii) -5, 2, 1, -8  (i)

.4

5, 8, -2 (iii) -8, -2, -1   (ii) -2, -3, -5  (i)

4 0,-4,6 .5

.6

.7

(i)

(ii)

(iii)
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"0oc" (iv)

"0oc" (v)

1.1

1.1.1

4 + 3 = 7

4 + 2 = 6

4 + 1 = 5

4 + 0 = 4

4 + (-1) = 3

4 + (-2) = 2

4 + (-3) = 1

1 (3, 2, 1, 0, -1, -2, -3)

3 4

4 1 2

3 4 -1
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4 -3 -2 

9 + 7 = 16 9 + 1 = .1
9 + 6 = 15 9 + 0 =
9 + 5 =     9 + (-1) =
9 + 4 =     9 + (-2) =
9 + 3 =     9 + (-3) =

     9 + 2 =

9+2, 9 +(-1), 9 + (-3), (-1) + 2, (-3) - 5 (i)

(ii)

(iii)

.2

.1

(i) 5 +7       (ii) 5 + 2       (iii)  5 + (-2)       (iv)  5 + (-7) 

4 Integers   
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.2

(i)  7 + 4     (ii)  8 + (-3)      (iii)  11 + 3     (iv)  14 + (-6)     (v)  9 + (-7)

(vi)  14 + (-10) (vii)  13 + (-15)     (viii)  4+(-4)   (ix)  10 + (-2)

(x)  100 + (-80)     (xi)  225 + (-145)

(xii) (-5)+7 (xiii) (-15)-(1) (xiv) (-5)+(-3)

1.1.2

6 - 3 = 3

6 - 2  = 4

6 - 1 = 5

6 - 0 = 6

6 - (-1) = 7

6 - (-2) = 8

6 - (-3) = 9

6 - (-4) = 10

6

(3,2,1,0,-1,-2,-3)

3 6

1, 2 6
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6 -1

6 - (-1) = 7

6 -2 , -3 , -4 

.1

8 - (-1) = 8 - 6 = 2

8 - (-2) = 8 - 5 = 3

8 - (-3) = 8 - 4 =   

8 - (-4) = 8 - 3 =   

8 - (-5) = 8 - 2 =   

8 - (-6) = 8 - 1 =  

8 - 0 =  

8 - 6, 8 - 1, 8 - 0, 8 - (-2), 8 - (-4) (i)

(ii)

(iii)

.2
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.1

(i)7 - 2    (ii)8 - (-7)    (iii)3 - 7    (iv)15 - 14    (v) 5 - (-8)   (vi) (-2)-(-1)

.2
(i)  17-(-14) (ii)  13-(-8) (iii)   19-(-5) (iv)   15-28
(v)  25-33 (vi)  80-(-50) (vii)  150-75 (viii)  32-(-18)
(ix) (-30)-(-25)

-6 .3

1.1.3

3 3+3+3+3 = 4x3 

 4 x 3 = 12 4 3 4x3

(-3) 4 4 x (-3)

4 x (-3) =  (-3) + (-3) + (-3) + (-3) = -12

4 x (-3) = -12 4 3 4 x (-3)

5 x (-4) =(-4)+(-4)+(-4)+(-4)+(-4)=-20 

7 Integers   
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5 x - 4 = - 20 5 4 5 x -4 

2 x -5 = (-5) + (-5)  = -10 

3 x -6 = (-6) + (-6) + (-6) = -18 

4 x -8 = (-8) + (-8) + (-8) + (-8) = -32 

.1

(i) 2 x -6 (ii) 5 x -4 (iii) 9 x -4

-4 x 3 

4 x 3 = 12

3 x 3 =9

2 x 3 = 6

1 x 3 = 3

0 x 3 = 0

-1 x 3 =-3

-2 x 3 = -6

- 3 x 3 = -9

-4 x 3 = -12

3 (multiplier)

-4 x 3 = -12

4 x -3 = -12
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-4 x 3 = 4 x -3 = -12

4 x -5 = -4 x 5 = -20

2 x -5 = -2 x 5 = -10

3 x -2 =

8 x -4 =

6 x -5 =

1.1.3 (a)

-4 -3 

-3 x 4 = -12

-3 x 3 = -9

-3 x 2 = -6

-3 x 1 = -3

-3 x 0 = 0

-3 x - 1 = 3

-3 x - 2 = 6

-3 x - 3 = 9

-3 x - 4 = 12
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3 -4, -3, -2, -1, 0, 1, 2, 3, 4 -3

-3 -4 

- 4 x 4 = -16

- 4 x 3 = -12

- 4 x 2 = -8

- 4 x 1 = -4

- 4 x 0 = 0

- 4 x -1 = __

- 4 x -2 =__

- 4 x -3 =__

-4, -3, -2, -1, 0, 1, 2, 3, 4 -4

4

-3 x -4 = -4 x -3 = 12 

- 3 x -1 = 3

- 3 x -2 = 6

- 3 x -3 =9

- 4 x -1 = 4

- 4 x -2 = 8

- 4 x -3 = 12
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(i)

(ii)

(iii)

1.1.3 (b)

(i) (-2) x (-3) = 6

(ii) (-2) x (-3) x (- 4) = [(-2) x (-3)] x - 4 = 6 x (-4) = -24

(iii) (-2) x (-3) x (- 4) x (-5) = [(-2) x (-3) x (- 4)] x (-5) = (-24) x (-5) = 120

(iv) [(-2) x (-3) x (- 4) x (-5) x (- 6)] = 120 x (-6) = -720

11 Integers   
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6

4
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3

9

6

-3

x

3
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(i)

(ii)

(iii)

(iv)

6

(-1) x (-1) = __________ (a)

(-1) x (-1) x (-1) = __________ (b)

(-1) x (-1) x (-1) x (-1)  = __________ (c)

(-1) x (-1) x (-1) x (-1) x (-1)  = __________ (d)

4 2 (c) (a)

(d) (b)

.1

(i) (-100) x  (-6) = _______________

(ii) (-3) x _______ = 3

12 Integers   
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(iii) 100 x (-6) = _____________

(iv) (-20) x (-10) = ___________

(v) 15 x (-3) = ______________

.2

(i) 3 × (–1) (ii) (–1) × 225

(iii) (–21) × (–30) (iv) (–316) × (–1)

(v) (–15) × 0 × (–18) (vi) (–12) × (–11) × (10)

(vii) 9 × (–3) × (–6) (viii) (–18) × (–5) × (–4)

(ix) (–1) × (–2) × (–3) × 4 (x) (–3) × (–6) × (–2) × (–1)

10 5ºC 40ºC .3

3 10 .4

(-1)

5 5 (i)

3 7 (ii)

4 3 7 (iii)

 ` 10/- .5

  ` 5 /- 

5000 3000 i
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6400 ii

.6

(i) (–3) × ———— = 27 (ii) 5 × ———— = –35

(iii) ———— × (–8) = –56 (iv) ———— × (–12) = 132

(Division of Integers) 1.1.4

3 × 5 = 15

15 ÷ 3 = 5 15 ÷ 5 = 3

4 × 3 = 12

12 ÷ 3 = 4 12 ÷ 4 = 3

2 × (–6) = (–12) (–12) ÷ (–6) = 2 , (–12) ÷ 2 = (–6)

(–4) × 5 = (–20) (–20) ÷ (5) = (–4) , (–20) ÷ (–4) = 5

(–8) × (–9) = 72 72 ÷ (–8) = (–9) , 72 ÷ (–9) = (–8)

(–3) × (–7) = ___ ___ ÷ (–3) = __ , _____________

(–8) × 4 = ___ __________________ , _____________

5 × (–9) = ___ __________________ , _____________

(–10) × (–5) = __________________ , _____________
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(-)

.1

(i) (–100) ÷ 5 (ii) (–81) ÷ 9 (iii) (–75) ÷ 5     (iv) (–32) ÷ 2

(v) 125 ÷ (–25) (vi) 80 ÷ (–5) (vii) 64 ÷ (–16)

 (–48) ÷ 8 = 48 ÷ (–8)

(i)90 ÷ (–45)  (–90) ÷ 45 (ii) (–136) ÷ 4  136 ÷ (–4)

(–12) ÷ (–6) = 2; (–20) ÷ (–4) = 5; (–32) ÷ (–8) = 4; (–45) ÷ (–9) = 5

.1
(i) –36 ÷ (–4) (ii) (–201) ÷ (–3)
(iii) (–325) ÷ (–13)

(Properties of Intergers) 1.2
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1.2.1

(Closure Property) (i)

5 + 8 = 13

6 + 3 = 

13 + 0 = 

10 + 2 = 

0 + 6 = 6

    6 + 3 = 9

-10 + 2 = 

    -3 + 0 = 

    -6 + 6 = 

    (-2) + (-3)  = -5

    7 + (-6) = 

16 Integers   2020-21
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a+b b a

(Commutative Property) (ii)

1 2

4 + 3 = 7 3 + 4 = 7 4 + 3 = 3 + 4 = 7

3 + 5 = 5 + 3 = 

3 + 0 = 0 + 3 = 

1 2

5 + (–6) = –1 (–6) + 5 = –1 5 + (–6) = (–6) + 5 = –1

–9 + 2 = 2 + (–9) = 

–4 + (–5) = (–5) + (–4) = 

a + b = b + a b a
(Associative Property) (iii)

(i) (2 + 3) + 4 = 2 + (3 + 4)
5 + 4 = 2 + 7
9 = 9
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(ii) (-2 + 3) + 5 = -2 + (3 + 5)
1 + 5 = -2 + 8
6 = 6

(iii) (-2 + 3) + (-5) = -2 + [3 + (-5)]
1 + (-5) = -2 + (-2)
-4 = -4

(iv) [(-2) + (-3)] + (-5) = -2 + [(-3) + (-5)]
-5 + (-5) = -2 + (-8)
-10 = -10

(i) (2 + 5) + 4 = 2 + (5 + 4)

(ii) (2 + 0) + 4 = 2 + (0 + 4)

(a + b) +c   =   a+ (b + c) a, b, c 

(Additive Identity) (iv)

–2 + 0 = –2
5 + 0 = 5
8 + 0 =
–10 + 0 =

0

a + 0 = 0 + a = a a

18 Integers   2020-21
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(i) 2 + 0 =  I
(ii) 0 + 3 = 
(iii) 5 + 0 = 

       (iv)

(Additive inverse) (v)

3

3 + (–3)     = 0

7 + (–7)     = 0

(–10) + 10 = 0 

a + (-a) = 0 -a a
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Properties of Integers under multiplication 1.2.2

(i)

 

9 × 8 = 72

10 × 0 = 

–15 × 2 = 

–15 × 3 = –45

–11 × –8 = 

10 × 10 = 

5 × –3 = 

a x b b a

1

(i) 2 × 3  = _______

(ii) 5 × 4  = _______

(iii) 3 × 6  = _______
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(ii)

1 2

5 × (–2)   = –10; (–2) × 5     = -10 5 × (–2) = (–2) × 5 = –10

(–3) × 6   = 6 × (–3)     = 

–20 × 10 = 10 × (–20) = 

a x b = b x a b a

(iii)

-4 -3 2

[2 × (–3)] × (–4) 2 × [(–3) × (–4)]

[2 × (–3)] × (–4) 2 × [(–3) × (–4)]

= (–6) × (–4) = 2 × 12

= 24 = 24

-4 -3 -3 2

[2 × (–3)] × [(–4)] = 2 × [(–3) × (–4)]
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(a × b) × c = a × (b × c) a, b, c 

  [(–5) × 2)] × 3  =  (–5) × [(2 × 3)]? .1

[(–2) × 6] × 4   =  (–2) × [(6 × 4)]? .2

(5 × 2) × 3=  5 × (2 × 3)

(iv)

9 × (10 + 2) = (9 × 10) + (9 × 2)

(i) –2 × (1 + 3) = [(–2) x 1] + [(–2) × 3]
–2 × 4 = –2 + (–6)
– 8 =  – 8

(ii) –1 × [3 + (–5)] = [(–1) × 3] + [(–1) × (–5)]
–1 × (–2) = –3 + (+5)
  2 = 2

 –3 × (–4+2) = [(–3) × (–4)] + [–3 × (2)]

a x (b + c) = a x b + a x c c b a
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(v)

2 × 1 = 2

–5 × 1= –5

–3 × 1= _____

–8 × 1= _____

1 × –5= _____

1 "1"

a x 1 = 1 x a = a  a

(vi)

(–3) × 0 = 0

0 × (–8) = ——

9 × 0 = ——

a x 0 = 0 x a = 0  a

.1

(i) 18 × [7 + (–3)] = [18 × 7] + [18 × (–3)]

(ii) (–21) × [(–4) + (–6)] = [(–21) × (–4)] + [(–21) × (–6)]

23 Integers   

5

1

2020-21

SCERT T
ELA

NGANA



(-1) x a a (i) .2

5 (-1) (ii)

.3

(i) 26 × (–48) + (–48) × (–36) (ii) 8 × 53 × (–125)

(iii) 15 × (–25) × (–4) × (–10) (iv) (–41) × 102

(v) 625 × (–35) + (–625) × 65 (vi) 7 × (50 – 2)

(vii) (–17) × (–29) (viii) (–57) × (–19) + 57

1.2.3

(i)

9 – 7 = _____
7 – 10 = _____
2 – 3 = _____
–2 – 3 = _____
–2 – (–5) = _____
0 – 4 = _____

a - b a,b

(ii)

-4 6

6 – (–4)  =  6 + 4   = 10    

– 4 – (6) = – 4 – 6 = –10

6 – (– 4)  – 4 – (6)
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5

1.2.4

(i)

5

(ii)

5

25 Integers   2020-21

SCERT T
ELA

NGANA



(iii)

a  0 0 ÷ a = 0 a ÷ 0 a 

(iv)

(–8) ÷ 1 = (–8) (11) ÷ 1 = +11 (–13) ÷ 1 = ___ (–25) ÷ 1 = _____

1

a ÷ 1 = a. a

(-1)

(–8) ÷ (–1) = 8 11 ÷ (–1) = –11 13 ÷ (–1) = ___ (–25) ÷ (–1) = ___

(-1)

a .1

(i) a ÷ 1 = 1?

(ii) a ÷ (–1) = –a?

a
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(iii)

[(–16) ÷ 4] ÷ (–2) = (–16) ÷ [4 ÷ (–2)]?

[(–16) ÷ 4] ÷ (–2) = (–4) ÷ (–2) = 2

(–16) ÷ [4 ÷ (–2)] = (–16) ÷ (–2) = 8

[(–16) ÷ 4] ÷ (–2)  (–16) ÷ [4 ÷ (–2)]

.1

(i) –25 ÷  ........ = 25

(ii) ........ ÷ 1 = –49

(iii) 50 ÷ 0 =  .....................

(iv) 0 ÷ 1 = .....................

1.3

(-2) (+5) 

30 (i)

(-12) (ii) 10

4

5 (i)

5 x 10 = 50

30

27 Integers   
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30 - 50 = -20

-2

(-20) (-2) 10

= 5 x 4 = 20 (ii)

- 12

= -12 - 20 = -32 

(-2)

 = (–32) ÷ (–2) = 16

0.40   ` 1/-  2

45   ` 5/- (i)

70 (ii)

  `1/- 

45   ` 45/-

  ` 5/-

-5

= -5 - (45) = (-50)

5000    `- 50/-

-40 = 40
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 = (–5000) ÷ (–40) = 125

(ii)

= 0

  ` 70/- 70

7000   ` 70/- 

 (-7000) ÷ (-40) = 175 

4 15 .1

(-2)

9 (i)

5 (ii)

` 5/ (Gray) ` 9/- .2

6000 7000 (i)

5400 (ii)

2oC 10oC 12 .3

8oC

(-2) (+3) .4

12 20 (i)
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7 (-5) (ii)

6 .5

-350 10

N = 1, 2, 3, 4, 5................. .1

W = 0, 1, 2, 3, 4, 5.................

Z = ............-5, -4, -3, -2, -1, 0, 1, 2, 3, 4, 5.................

I I =  

(i) .2

(ii)

(i) .3

(ii)

(i) .4

(ii)

(iii)

(i) .5

(ii)

(iii)

.6
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a + b b a (i)

b a a - b

a+b=b+a b a (ii)

b a

c b a (iii)

a + (b + c) = (a + b) + c

a + 0 = 0 + a = a a (iv)

.7

a x b b a (i)

b a

a x b = b x a b a (ii)

1 x a = a x 1 = a a 1 (iii)

c b a (iv)

c b a (a x b) x c =  a x (b x c)

c b a .8

a x (b + c) = a x b + a x c

.9

a .10

a ÷ 0 (i)

0 a 0 ÷ a = 0 (ii)

a ÷ 1 = a (iii)
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